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427 [JINNYL 100 60 160
428 [T )TIINT 52 83 135
429 NBALTEUAT )L 14 14
430 [ A RFFHLT 23 23
431 |7/ ¥ APaE Y 224 224
432 [7IRGA
433 [ H— Ak 50 50
434 [A¥HYIV
435 [EUS /Ry AF )L 242 242
436 [T NT 7 = AFNAFL Y 51 51
437 |3—AFNF AT —)L
438 [ AFNFTHLL 4.5 448 0.29 0.060 453
439 [3—AFAEVTL
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1—AF ) —1—Txz=)L=F )L =bRa~
40 T 0.002 0.003 0.005
441 2— (1 —AFLTEEN) —4, 6—V=Fr

Jx/)—)v
142 | A7m=L 600 600
443 [ AIIL 227 227
444 N7 EF L APIEY 1.4 1.4
445 [ JLIRTIAF L 100 100
446 |4, 4’ —AFLL T =D
g7 ATVVERE, I—vaakiy) =Y

AT F—h
448 ;(77:1//1:2(4, 1—Tz=Ly) =V 15 0.045 15

F—h
449 [T AT 4T 7
150 EVTFHNT 432 432
451 |2— ARF T —5—AFAT =Y
452 (2= ANA TN F T — v 0.15 0.15
453 [EVT T ROZDLEY 1.7 1,417 4.4 1,423
154 | 2— (BEARY ) OFH) RS F 7T =L 0.021 0.021
455 |/ 5.4 16 21
156 WAALT AI=D 4 166 166
457 [T LRA 304 304
458 [DAMBERIA (2 —=F L~FT L)
459 WARENA(2— Zanx L) 4.7 4.7
460 W ARRRI RV 0.50 1.6 2.1
461 DAREN 7 ==L 48 51 99
462 WABEN— )V~ N— T F )V
& = 287,875]  70,239] 1,505] 6,993 478,258] 50,725] 249,495 36,054 36,910 5,191 506,010  4,720] 36,850] 29,510| 326] 646 565 _ 61,047 246 57,977] 46,938] 1,174  3,261] 1,972,269
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